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N = Ol & AF & ZF A
20118 =& 2 3 LESH JIEISESA NS0 ~ ALXJ
A =M A

o SHSSEE =208 &
SR oy o= &S
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A

SA-E . S(E) - MEAY - BES 0l & o o1& o SImE=ET
= XIS At 9,450,765 9,482,300 A 31,535
SHSEE SXJIg =4 8,108,925 8,140,460 A 31,535
Z2I|E elZe &3 2,220,965 2,252,500 A 31,535
SHESELAIEANOER H4 0 2,165,000 A2,165,000
401 Al EHIZ 2 OhY| 0 2,165,000 22,165,000
01 Al£Hl 0 2,160,000 22,160,000
OALEAAHOEZR JI2LHESZ 0 2,160,000 2,160,000
03 A& 20| 0 5,000 A5,000
OALEAAHOEZR JIZ2£H 0 5,000 5,000
SHSEE ZIIEAE EHHIAY 35,965 67,500 A31,535
401 Al EHIL 2OHY| 35,965 67,500 A31,535
01 A& HI 35,965 67,500 A 31,535
OsAH=SEHZIIE E4l 35,965 67,500 ~31,535
SHSgE 2 A4(=21) 2,165,000 0 2,165,000
401 Al EHIZ 2O Y| 2,165,000 0 2,165,000
01 Al Hl 2,160,000 0 2,160,000
oOsAH=SEn FIF A4 2,160,000 0 2,160,000
03 A& 20| 5,000 0 5,000
osiH=sgY ZIE HE 5,000 0 5,000






